—— A
N = 0] &F AF S & AN A
20228 = 20l A LEHSH KR =&
EXN: =&
M HABe
Ce: MEHIS MAE Hel (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
A& =& 11,691,434 10,979,938 711,496
Al 59,600
- 11,631,834
A2 6,617,027 6,335,358 281,669
Al 59,600
- 6,557,427
MEHIIS HAHAE Xl 5,346,906 5,054,559 292,347
Al 14,000
3 5,332,906
MEMY D Al Kel 4,900,766 4,612,831 287,935
201 et 29,084 3,640 25,444
01 AP 2t 2] H| 28,334 2,890 25,444
OCHHAEIA 100& *2Z*10, 0000H 2,000
OMEHII= =& - 2EF (G ZBor2asE &
=2 Xl 1002 *5000H 50
Ol MA(HEMYD BHERE)
70,000& 9l A %23 1,260
Otd 222 I=H| 25,024
o= 110,000& 64 7,040
odtst= 60,000& x64H 3,840
o & 5} 40,000& »64H 2,560
o229 40,000 x64H 2,560
o &35t 20,0009 x64H 1,280
o 2 X 10,0008 64 H *23| 1,280
o QtM P 20,000 x64H 1,280
o gt 5H & 24 10,000 x64H 640
o & chgt x| & 2 9,000 x64H 43| 2,304
o 0FZ X)) 35,0002 64 H 2,240
02 =224 | 750 750 0
O&tFZ222 2EZ2 08 K|
750,000 =14l 750
203 R F & 3,000 3,000 0
03 AIZH =& 25 X H| 3,000 3,000 0
OFAHMHY AIHFA 3,000,000& 3,000
206 TH2 U 10,080 10,080 0
01 X2 H| 10,080 10,080 0
OSZZ2RH HAES 7
15,000 «56H «12& 10,080
207 &R 2l 6,500 6,500 0
01 Y| 6,500 6,500 0
OMEMY D HeldlE |dlssd 849
6,500,000 x1J4 D] 2+ 6,500
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Bu: game
S MEHIIES MAA M (ct
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
301 €EtE2 N = 2,000 2,000 0
12IIEt2d= 2,000 2,000 0
OMEHIIS 48 - 20 oM HZBIIe
=g 100, 0003 4«5 2,000
307 21201 A 4,390,902 4,170,351 220,551
05 22t & =3 4,390,902 4,170,351 220,551
OMBII4H DI e 22z
428,715,800 123 »85% 4,372,902
ALHl fIE X el 1,500,000 x 128 18,000
308 AHXIEHHM SO0l ™ 459,200 417,260 41,940
13/ 2S0EE &= A AL 369,600 369,600 0
OMglletgd =2 369,600
ocdbtg 16,000 1,350« 12& 259,200
oANBEE 40,0003 x230= 122 110,400
2IJIB2E3 89,600 47,660 41,940
OmHVIZN=2RE= 89,600
ol 15,000 *5,000& *1.024 76,800
o A2t 10,000& *5,000= #25%+1.024 12,800
SEH #ASE N 141,653 146,263 4,610
206 M= Hl 141,653 146,263 A4,610
01 M=l 141,653 146,263 A4,610
OXgdl SMESE WA 141,653
odits 58,120
- 50 312 %140,0000H 4,340
- 108 383 *250, 00004 9,500
- 204 2 %180, 0000H 10,260
- 304 85& +90, 000 0K 7,650
- 504 1242 %90, 0000H 11,160
- 750 169& 90, 0000H 15,210
o THALE 28,120
104 413 +120,0000H 4,920
208 58& %400, 0000H 23,200
S =N =) 9,100
- 50 31& %30, 00004 930
104 38& 200, 000 0H 7,600
208 57& 10, 000 0K 570
oEEE 13,466
504 124&»35,0000H 4,340
754 169% *54,0000H 9,126
OANEEE 30,900
- 208 57&%20,0000H 1,140
o
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
- 304 852 «20,0000H 1,700
- 504 1243 «90, 0000H 11,160
- 754 169 x100, 000 OH 16,900
< PPOLCH 1,947
- 304 275& =1, 00004 275
504 330& *3,0000H 990
754 341& *2,0000H 682
HEHII= HAH el 108,808 106,266 2,542
101 2124 d| 23,276 22,829 447
04 JI2ZtHI 22 XS 23,276 22,829 447
OEmINZ & 23,276
o Ol 4 H| 81,1963 1™ »242 19,650
oMEAdZd BNLE 117,128 118
o nl SH| 2,600& x 1 x200 520
oRUAZEEHEHZ2 20,288,000& *4.5% 913
o=0AHUBEHEEHZ 20,288,000& *3.43% 696
oLIINQAYLE 22
696,000 *x11.52% 81
ocllEEEEEHZ2 20,288,000 *x1.65% 335
opIHEEEEZ 20,288,000& *1% 203
ocHAEAMMWZ 300,000& *1H 300
oZ2XLOE 300,000& =14 300
oss 60,000& *1H 60
ogl=E 50,000& =14 50
o OtXM 3} 50,000& *1H 50
201 Lt 2| 2,970 2,970 0
01 At 22l ] 1,050 1,050 0
OUHEHIIZE MDES M 70«15, 00004 1,050
02 =294l 1,920 1,920 0
OA& &l S XYl 720
ocJEHII= SclltMs JIF
180, 000& *43] 720
OUEHII=E ALY i 2
100,000& *12& 1,200
307 212t0| & 82,562 80,467 2,095
05 A2t E 2 82,562 80,467 2,095
OHEHIIZE A& KHel 82,562
o H & A Xl 243,949 x22E x12& 64,403
o H=M 58,2003 x26E 128 18,159
HAAE L FHul 22 135,313 130,713 4,600
201 Bt 135,313 130,413 4,900
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S MEHIIZ2 MAF Kl (¢t
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 At 22l bl 17,240 17,240 0
OFAXE s
(3,1002 x723] x 128 )+(2,400& 163 x 12 ) 3,140
OFAX 2SI S|
8,000& x5H x20 x12& 9,600
Oetd=z =&l 8,000 x1H*x20 x12& 1,920
ODAAMEI ARE 1,500, 000& 1,500
OFAXD 89| 90,000& ~12& 1,080
02 332494l 118,073 113,173 4,900
OFAXD MIRB 150,000& = 12& 1,800
OFAXD K2 46,6403 128 560
OFAXLD &ol=E 22 320,000& *63] 1,920
OFAXND HXFHA 2 30,000& *13] 30
OFAXLD |KFH| 9563 *10A| 2t 201 90 1,721
ONSXHEEE 7,355
o LA EXH(10E) 1,500,000 *2CH 3,000
o [(fE5HE A & =X XH 600,000& = 1CH 600
o (0l0IEIREI2.BE(CIZE L EXE)
400,000 = 1CH 400
o JJHE AEEI A 555,000 = 1CH 555
oZdl1.6EQAUEONEH 800,000& = 1CH 800
olNBL-HAAX 500,000 1 CH 500
cHIIS2EHA(1E) 600,000& *2CH 1,200
o 0| & Xt 100, 000& ~3CH 300
OB MNMREE 2 300, 000& *1CH 300
O Xts XHA 70,000& *9LH 630
OR&H| 33,457
S 1,361.0& %5004 *3CH 2,042
S e 1,163.5& *3,000¢ *9CH 31,415
OFAXEEHI 7,000, 000& «9CH 63,000
O0lE XA 500,000 »3CH 1,500
OLHAEAXNE A22F 4,000,000& = 1CH 4,000
OFAXLD BRIIANEZ 40,000& ~12& 480
OFAXLN ROFHIAIAE MES
110,000& ~12& 1,320
MY Il RFHED g 40,366 37,486 2,880
201 YEr2 Y| 40,366 37,486 2,880
01 AR 22l bl 4,570 4,570 0
OM2=+e 28 & i s&2=+5 70,000& 70
ORH4&E)| H o 30,000& 15004 4,500
02 3524t 35,796 32,916 2,880
ORSED FAZAIINHC FE2H AES
96,000 x23CH x12& 26,496
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2AM: AN =s
Ha: Zyapel
& MBHII2 MAHE ™el (¢t
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OFUANS MEE 50,000 »5CH 3,000
OMg Dl REEI| AAZ A0 Al EHI
X dl 2,500,000& »2CH 5,000
OMedl SHEI| FZZAIHHe L=
100,000& 12 1,200
ONZFXNE HX 22| 10,0002 = 10K 100
SAFZAMY K 20,000 21,000 1,000
Al 14,000
- 6,000
405 THebH S| 20,000 21,000 21,000
Al 14,000
T 6,000
01 AL 2 S FH S| 20,000 21,000 1,000
ORHEI AZHLI(0SE) &X
4,000,000& +50H 20,000
Al 14,000
- 6,000
=F3 el 139,467 118,366 21,101
Al 25,600
- 113,867
Eodel ¥ Fx 2e 23,547 20,894 2,653
201 Let2d] 720 720 0
01 At 22l 720 720 0
OFsE EA AUHEAM S 70,0003 =64+ Xt 420
OF3x HA ol EBE2 ME S
50,0003 =64+ Xt 300
301 LEHZ 19,527 16,874 2,653
01 MI2ZE+06l= 19,527 16,874 2,653
oMzt BEaHerg K& 19,527
= el &l 13,510& 20 271
o == Al Al 6,640& x2,900H 19,256
307 glz2+ol & 3,300 3,300
05 RIZIRI &3 3,300 3,300 0
O2-XMels+zE Hads nea2
1, 100& x50, 000m" *6% 3,300
SEHELY RA2e 75,320 76,172 A 852
101 @144 dl 30,572 28,968 1,604
04 JIZHHZ2XREES 30,572 28,968 1,604
O3sazd gz 22 30,572
cQIAH(RSHLY XEH
81,1963 x2H x157 25,496
cMEdzms BEdasY 970,000& 970
oA EERES 26,466,000 x4.5% 1,191
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gelr 2335 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ocxUAABEHREE S 26,466,000& *3.43% 908
L EIQAEEEEZ 908,000 *11.52% 105
cIEZERES 26,466,000& *1.65% 437
oM EERE S 26,466,000 *1% 265
cHEHNNUS 300,000& »23| 600
oSEXNZEQUE 300,000& »23] 600
201 Let24d] 44,748 47,204 A2,456
02 =24l 44,748 47,204 A2,456
O=&sda 23222 12,498
oI
(40,000 * 10 & 122 )+(300, 000 * 100 £ *1 4,080
2d)
ocdol=Eg 550,000& 100 2128 6,600
czhsE 41,1003 * 100 2 42
od=HEAH 37,0003 x4=+128 1,776
O==st&4a el 10,800
cAE= =2l 200,000& 204 2% 12 4,800
ool EFHE 3,000,000 *20H 2~ 6,000
Ongstaas A28 XA 21,450
oztZ X HeEsEA HOAEF K&
33,0003 *100H 2«30 44 Kt 9,900
oJ|E HestEA HOES XA
33,0003 *35JH A x 1044 Xt 11,550
HEstEa FX2tel 10,600 6,300 4,300
Al 10,600
206 M= Hl 10,600 6,300 4,300
Al 10,600
01 M2 4l 10,600 6,300 4,300
OMegstaEa KX 2l 10,600, 000& 10,600
Al 10,600
HAANE MAstEE HAAS 30,000 15,000 15,000
Al 15,000
- 15,000
401 Al& I 28I 30,000 15,000 15,000
Al 15,000
- 15,000
01 A& Bl 30,000 15,000 15,000
OFAAHES MHeHASHEA HHAS
5,000,000& *6H 2~ 30,000
Al 15,000
- 15,000
Xeo Mol WEE =X 1,130,654 1,162,433 A31,779
Al 20,000
- 1,110,654
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el

e =g
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A - ER(EN) - AR - B of & o4 SSa HIDZ2
SASFHII=2 2FH Xel 459,979 539,539 79,560
206 M =8l 12,137 12,137 0
01 M=l 12,137 12,137 0
OS4SR HII=2 €25 M 12,137
o8& 8,092
- 34 243 %56, 500 4 1,356
- 50 243 »251,5004 6,036
- 204 35& x15,000H 525
- 1208 353 +5, 0004 175
ocSAMEE 3,565
- 50 243 %10,000H 240
- 204 35 %90, 000H 3,150
- 1204 353 %5, 0004 175
oANEEE 480
- 204 243 %10, 0004 240
- 1204 2432 %10, 0004 240
307 212t0l & 447,842 527,402 AT9,560
05 It E = 447,842 527,402 279,560
OS4SR HII= UAAE R 447,842
o Q2 170,780 »200E « 122 «85% 348,392
od= 75,0002 *100E * 123 »85% 76,500
oxd 18,000 125& «12& «85% 22,950
SN2 2Y 592,936 576,139 16,797
101 @128l 465,464 456,522 8,942
04 DIt 22 XS+ 465,464 456,522 8,942
ongss HE 465,464
ol 2| 81,196 «20 242 392,989
ocMdEys BHsE 2,342,560& 2,343
o W SH| 2,600 20 200 10,400
o0 EEHRYS 405,732,000& *4.5% 18,258
oxQALEEEES  405,732,000& +3.43% 13,917
cdFIQLEERES
13,917,000& »11.52% 1,604
cNEEERES 405,732,000& *1.65% 6,695
SUMTHEERES 405,732,000 * 1% 4,058
oXY= 2,200
s= 60,0003 20 1,200
ot= 50,000& 20 1,000
o OHA &} 50,0003 20 1,000
oSXERE 300,000 20 6,000
cdEYOM= 300,000& »20H 6,000
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ol MEE =X

CEE O (BAH) - NRAY - B2 O 4t o8 il
B2 A Y| 81,774 74,508 7,266
AP 22| | 3,706 5,146 ,440
OMEE dexe =7 S|
8,000& x2H x152 x12& 2,880
Odega HI(20) |SAE 2]
68,800& x12& 826
S22 9| 78,068 69,362 8,706
OdIIe=2 1,470,000& ~12& 17,640
OMole=E=R2 200,000& «12& 2,400
OAHOIETV bl = 11,0008 x12& 132
OXAX E8& 100, 000& *1CH 100
OAJEAEINHZH BEE 200,000 =1 CH 200
O&JI|tE2Ae| =42 172,000& = 12& 2,064
OAagAd g2t =2
198,000& *12& 2,376
OAgotNdE 3 Y| 48,000 *13] 48
OLPG JIAR223 50,000& x2=*x102 1,000
O (AEIIHAH) 1,433.3& %640¢ =128 11,008
O&HI KXl 12,000
o HES=D]| 1,200, 000& 1,200
oHld =D 1,200,000& 1,200
o 2= 1,200, 000& 1,200
CRIPEE A=) 1,200, 000& 1,200
cAHI N (38) 3,600,000& 3,600
o Xt&E 44 )| 1,200,000& 1,200
oH 2 1,200, 000& 1,200
o AEIZEZLED 1,200, 000& 1,200
OsedN 2L A2 XH 5,000,000 5,000
OHZU HIIZEAN =22 100,000& 100
OXAH X Syl 12,000,000 = 1CH 12,000
OAJNEAEINHZH 23| 12,000,000& = 1CH 12,000
206 M = dl 45,698 45,109 589
01 XHZ Hl 45,698 45,109 589
Ot 9= 45,698
oMYy Il 25 HME(752 ) 169& *50, 0000H 8,450
olfEgsELH 222 0ty 5,640
- OFCH (105%130cm) 7,000& *x30& *12& 2,520
- OFCH (90%140cm) 6,500 x40& « 128 3,120
op P& 13,000& *100 & 1,300
op PHE(NISZEH) 24,000& *2002 4,800
oFsSE ELH 2,000 *2,000kg 4,000
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500,000& ~12& 6,000
oX2A(0lE2¢) 850) *460 & 12 4,692
o ™ &2 300 *460 X 128 1,656
oA 1,000& x460H x12& 5,520
oHSotA 20,000& *22 1 x6 3| 2,640
o3J|d&I 2H 100,000& *63] 600
oH 20 H&EX 50,0003 «8< A 400
MEZ JIBAIE &5 40,000 20,000 20,000
Al 20,000
- 20,000
405 XtabF SHI 40,000 0 40,000
Al 20,000
- 20,000
01 XAt 2 FF S| 40,000 0 40,000
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Al 20,000
- 20,000
MEE AIBAR ~3H 18,541 12,657 5,884
201 Bt A | 13,771 7,887 5,884
01 At 22l bl 13,771 7,887 5,884
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oc=2EZ 650 *1Z =3, 0000H 1,950
oc=EEZ 4403 *1Zx3,0000H 1,320
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4, 4883 4004 1,796
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OMEEAAE ASH 3,000& x40 *6 3] 720
OMEE HEna 2A2 450
o2 A& 100,000& 1 *x33| 300
o XZUANE 50,000& *1H x33] 150
OMEE MEguas Mayl 650 *1Z %2, 000K 1,300
12 JIEt2 &= 300 300 0




o |o o o |o o N~ N~ N~ © | ©
o (@] o [qN] [qN] Qal N~ N~
-~ @ | @ X NN
L._u Yo Yo Yo} ()] ()] (o)) [ep) [ep]
» Al Al Al [N N
El
E=]
o o Al Al Al [<o] (<o) (<] o < < < <
o o <t < <t o] L 9] Q <t <t < <t
o o [ [ [ [ep] [ep] [ep] Ye) Ye) [Te) Y] [Te)
= | = & | o | s |lo|lo < |lolo|lo |l
— — — < © © © ©
H3r el |w
RS
o o o o o o o [qV] [qV] [aN} o [aN] o) N~ (e} o (<o) <o) (<o) o <t [aN] N~ — — © © © ()] o o o o
o o o o o o o <t <t <t o <t o ™ o o [Ye) [Ye) Y] (V] < (o)) (@) N~ N~ © © (<o) — [ee] o [e6] o
® S| & o F o0 |[D|® © 0 o 3¢ = —le|e|le o @ S f|o(e|dldd o oS ©®
I © | ® @ o =R = = ~ 1 “IZ2|2|8I8SEI B8 I~
el || =~
3l o |l ||| - «©
<
=3
Gl o Wo Wo = 5 = = RO W w G} o W o
[aV] == - == o o o (ap) [aN] N < [aV) [aV) N (V)
— AR 3 ™ N S * — — * — —_ =
7 P w 1 Ny S s ® nooon UE : oo
or ] oo S T <M< o S W of 5 80 80 30 &0
o o0 ol of S W = o= ¥ S o ~ @© < o o o
0 g 3 8 8 S = S~ e S ] ¢ 299
) o S S S S8 g sg 0% ™S o 8 urw W oW W ®
. « S g 3 . DB R® ww ws S s 3 S 3288
ms8 & 2 0 K o S o — S - Ire} © S &5 S
ol <0 A0 T X ® 2 = © = o s S S
< = — SN po - 9 ¥ &«
I & = L &g n
=3 = ¥ 20 R = =
= hal - 0 Rk ~ K
0 KJ = oll — 1l =
= 0 = ) o o E
= ; i oo = s I
o 60 7 N _ ~ 5 o el
= ofl _ = = n o) 0 = b0 o
o = o o " il 01 o 00 b <
= = <k |5 |5 IS no o <k KroKr
ul L R lw & o Mz | ar H ar O mow o A A
. mim = wm Sl |m 20 wls | i ME R R
wl 2 |2 W oo o1 o i LN VRN = RM| ™ 0 0
) H|H O o = O ol |a T |T|o o
. % |3 Wiz |5 5 |s RO |80 | F0 | 5
g & = |« » O | O | R | —
* = Ob | A | %

ol

0




AN A=
HE: HY2IFH (A=)
Sl ol ) CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
s (SEMXE) 60,0002 x15H 128 10,800
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o =gl =4 289,475
A Z A 140,000& 64X » 128 107,520
HEFOH 3,553,800 «80%*64 X 181,955
SEEEEYS 636,407
NEEEEEN
19,346 & 1Al 2t 150%+64H x 12& 22,287
guzesy
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ozt RIS
19,3463 *8A| 2tx 17 64 H 168,388
olfistd Xtz XA 300,000& x10H 3,000
oI ZRA HE™HAM 50,000 64X 3,200
ocL=2E MU 50,0003 64 H 3,200
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